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Determine whether MN and RS ave parallel, perpendicular, or neither.

1. M0, 31, N(2,4), R(2, 1), S(8, 4) 2. M(—1, 3), N(0, 5), R(2, 1), 5(6, —1)
)
Slope MN: ﬁ Slope MN: i
N J
Slope RS: 1% Slope RS: LZ.
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3. M(—1,3),Ni4,4),R(3,1),8(—2,2) 4, M(0, =3), Ni—2, -7y, Ri2, 1), Si0, —3)
\
Slope MN: ﬁ Slope MN: L

-\
Slope RS: / 5 Slope RS: 2




Find the slope of MN and the slope of any line perpendicular to MN.

F.M2, —4), N(-2, -1) 8 M1, 3), Ni—1,5

5) B ) q
Slope of MN : __/4 Slope of MN :
1 slope: ‘A/ S 1 slope: l

7.) Write the equation of a line in slope intercept and point slope form which pass through the
points A(-4,8) and B(-7,-1)

. Slope intercept Point-Slope ‘? d v
) Flag, Sapges O slope i adready TN
———— 2 —— sl =l
=Yoot T9 (=3
) Fad bo: N=mx+tb @ Y-R=3(x+4) sa
L Q= %(L” 4+ b @ Ecbjwm-aofk Y+1=3(x+ "])

g=-12. +b V=3x+20
2o = b\

8.) Write the equation of a line in slope intercept AND point-slope form which is parallel to
y + 3x = —2 and passes through the point (-1,-2).
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| 9.) Write the equation of a line in slope intercept AND point-slope form which is perpendicular to
| 2x +y = 5 and passes through the point (2,-2).
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